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1. Write the given number in usual form-7.852595 x 10'4

(i) -0.07852595 (ii) -0.007852595 (iii) -0.0007852595 (iv) -0.000007852595 (v) -0.00007852595
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> [ ]~

-12 -12 -11 -13

(i) (g) (ii) (g) (i) (1712 (i) (g) (v) (37)

210 n
3.00(219) 7 = (2%) L find n

() 526 (i) 524 (i) 527 (iv) 522 (v) 525
(g—n

(r=p) (p—q)

4. Simplify ( V'O) ( vq) ( vr)

M o ) v iy VPTG 1w 1

(7/3) (7/3)

()
5. Simplify the expression(g) x(g) X 3 3
(7/3) (7/3) 7 (7/5) (7/3)
241 1243 243\ 243 35
W () () i () v (5)) v (%)
6. The value of(-3)"2 — (-5)2
2
() o (i) o (i) (o) (V) oo (V) e
Vo5 W53 M (225) Vo250
-3 2
1 1
1 (2) +(2) -

(i) 135 (ii) 137 (iii) 132 (iv) 134 (v) 133



3 2

8. The value of( ; ) X ( :j)

) . 250 250 248
) (ii) 28 (iii) 5 (iv) - (v) -

(-5)2 x472 x (-4)"2 x 32
9. Simplify
(-4)2 % (-5)2 x52 x (-2)2

2 3 2 2
3 , 1
D (6000) ™ (T6000) ™ 1e000 ™ (5200) ™ (1g000)
S
10. Simplify the expression(_7) X(_7) X (-7)
179 179 1179 -191 167
(387) (387) (387) (307) (*36")

11. The value of( 35 ) + ( -_23 )

2
(0) (181) (i 179 (i) 61 (iv) 181 V) 181
36 36 12 34 36
(-3/5)
4
12 (3) =
(2) . (2) (3)
4 ]
4 4 (S) 4
()~ (i (2) i LW 4 () ;
(3) 3 (%) (%)
3 5 1 3

Represent the given large number in standard form

13. 5
420266400000%10

(i) 4.202664x101% (i) 4.202664x1017 (i) 4.202664%1018 (iv) 4.202664x101° (v) 4.202664x101°



7

14. Simplify the expression(-4)" X (-4)7 X (-4)7

22 21

M 021 ) 020 Gin 922 v (D2 W

15. The value of4_2 +2'3

2
(i) 3 (i) > (iii) 3 (iv) : (v) '3
D 1g W g G v v ()
(-9)”7

16. - -
(-9)3

M 9 i) 9710 iy (12719 (v) -6)10 (v) (-9)?

17 Represent the given small number in scientific form
" -3.010222

(i) -3.010222x10 (ii) -3.010222><102 (iii)) -3.010222 (iv) -3.010222><10'2 (v) -3.010222x1071

18 Represent the given large number in scientific form
" -257445700000

(i) -2.574457x1011 (i) -2.574457x1012 (iii) -2.574457x10° (iv) -2.574457x1013

(v) -2.574457x1010

19. If ,ou=q, qv=r and rW=p , then uvw=

(i) pgr (i) -1 (i) 0 (iv) 1 (v) (p+g+n)

4

20. Expand the following base power( 31 )
M (2 Gy (2 iy 1 v

243 27 81

-5

-5
21. Expand the following base power( 4 )

4096 | -1024 ... ,-1024 ) -1024 256

15625 ) (qggey! ) (5ro50) (W) 0m) () o



23. The value of3™3 +(-4)_3
2
W oy (Y iy 2% v (X v (22
| 27 I ( 27 ) 111 5 v 25 Vv 9
(-2)2x472 x(-3)2
24. Simplify
3'2x32x(-5)2
2 3 2 2

25. The value of (2 ) ()

66 B 64 . 62 ) 64 64
(iii) (iv) - (v)

M 55 0 (155) 125 125 123



Assignment Key

1) (iii) 2) (i) 3) (v) 4) (v) 5) (ii) 6) (iv)
7) (iv) 8) (iii) 9) (i) 10) (i) 11) (v) 12) (i)
13) (v) 14) (i) 15) (i) 16) (ii) 17) (iii) 18) (i)
19) (iv) 20) (iv) 21) (iii) 22) (v) 23) (i) 24) (v)
25) (iv)
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